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5% 3> (ax + by)?
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et 4% ax + by O] Bl £3514] Gk




4. 2 A a,b ol N5t |a+bl < lal+1b] 01 HES SHE Aol

(%) la+ bl > 0,lal + b] > 0 | B2
la + b < (lal + [b])* = SE5HH Hrt.
(lal + 1b1)? = la + bf?

= lal* + 2lallb| + |bI* - (a + b)?

= a? + 2lab| + b? — a® — 2ab — b?

= 2(|ab| — ab)

a4, (7H) °1 22 2(|ab| - ab) = 0

" la+ b? < (la] + |b])?

wW2tA |a + bl < |al + |b]
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= ab >0 ¥ wjo]ct.
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© (Ixd+ )% =Ix=—y?
=[x + 2[xllyl + I - (x - y)?
=2(lxyl +xy) 2 0
S+ D)% = e =y
(& S xy<0d T ARH)
@ (F=)

x=2,y=-3 gl
2+ (=3)|=1,12- (-3)| =5 °|B&
[x + ¥l < |x =yl

whebd] AR5 Aol ohd 2L @, @ oItk

o
AT




6.

3 -
x>3oe1]IHxT3+2+3x94 H3k2?

® 3 @ 5 ® 12 @ 15

B

3 3
— L9 =3(x - — +11
x_3+ +3x=3(x 3)+x_3+

o, x > 30|02 3(x—3) > 0, xT33>0

AtE a3t 7|5k ol 2l sh




2
@ 8m @)16 m? 3@ 25m? @ 36m? ® 64m?

B

7125 x, M2E yet sk
2(x+y)=16 x+y=38
At&7|5bg oS AHESH,
xX+y=2+xy

4> VE

= 16> xy
- 5lo]9] 2zt 16(m2)




Y

:1+x

1+y

° AE v wotd?
x, yoll thsto] -, 1+y4cﬂ
_ X Yy X y
; " 1 1+y @1+x 1+y
L+x 14y +x
x y
; " 1+y
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@ (a® +b%)(x* +y?) 2 (ax + by)?
@ >+ab+b%>>0

® a®+b2+1>2a+b-1)

~&B

© W ia=-1,b=1
I-1-1=]-1-1
=1 =11 =]-2
1-1>22-502>2 - (X)
@ 2(a® + b% + c?) — 2(ab + bc + ca)
=(a-b)2+(b-c)*+(c—a)?=20-(0)
® a®x% + a®y? + b*x% + b%y? > a®x® + 2abxy + b?y?
a*y? — 2abxy + b*x*> = (ay — bx)? 2 0 — (O)
1\* 3b
@ a2+ab+b2=<a+§b> +TZO—>(O)
®ad?+b+1-2a+b-1)
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a® 4+ b3 + ¢ — 3abc
= (a+b+c)(a®+b?>+ c? —ab - bc - ca)

1
= i(a + b+ ¢)(2a® + 2b? + 2¢% — 2ab — 2bc - 2ca)

1
= §(a+b—|—c)(a2—2ab+b2+b2 —2bc + ¢ + ¢% = 2ca + a?)

:%(a+b+c) @)= 0

@ (-5 + -y
@ (a+b)?+ (b+c)?
® (a+b)?2-(b+c)? - (c+a)?
® (a=-b)*+(b—c)®+(c—a)?
® (a-b)2=(b-c)? - (c—a)?
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+
+ (c +a)?

@ {(a® - 2ab + b?) + (b? — 2bc + c2) + (% - 2ca + a?)
=(a-b)?+(b-c)?+(c-a)?




